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2.8 Mg =
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230
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234
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O AJIXN(E=x,Z0],84) =22 WA 100,000& X 6,000m X 99.64/100 = 597,840
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((200) 2R = St (230) R EXHAHE S NE: (234) = EER=ED
In’ =
Ol AFQH | MEA SOl MOl HI DS At = J| ES

Mg =2
O AUE Dl=2tY JIAE X ZA 50,000,0002 X 0.3/100 = 150
O 280 (=2 YA AX 2 A 70,000,0002 X 0.3/100 = 210
O AUE 3E U2 HE ZA 60,000,0002 X 0.3/100 = 180
O AUZS 3E ESATH HISZ IHA 2 A 60,000,0002 X 0.3/100 = 180
O 25 SEUHKAETY IIAE AXZA 40,000,0002 X 0.3/100 = 120
O AUE SE2HFTH =22 e 50,000,0002 X 0.3/100 = 150

238

JIEISE X4 15,000 0 15,000

405
INE = 15,000 0 15,000
15,000 0 15,000{405-01 (Xt&HE SHI)

O ®IIBIEEHITZ AlLHD| 3,500,000 X 10 = 3,500
O ALS Al Witg)) 3,500,0002 X 1CH = 3,500
O ZER AIRA WHire)) 2,500,0002 X 1CH = 2,500
O M4 300,000 X 10CH = 3,000
O SHUEAM(HFD])P2L 500,000€ X 5CH = 2,500




(200) Xt=H X (280)HIR SRl a8 HIg: (282) 82X S A4S cemg
i} =
|AHOH  IRMEAT O AL HlnE2 E ES
st K 8t =
280
HIRSSMa e 810,000 810,000 0
282
HEXUSIH3 400,000 400,000 0
601
2 400,000 400,000 0
400,000 400,000 01601-02 (AZZXENLIISX
OXSHLI2 S8X2 A3 48
[DtEHi2=XI &XI]
20104 X+g 2,000,000,000& X 1/5 400,000
289
JIEHHI RS 410,000 410,000 0
612
JIEHHI RS2 410,000 410,000 0|0 222221012 s8X= &3
2004 ASEHSASH (Y 3,500,000,000& X 1/10 350,000
2004 & AT H SRS H (Y 600,000,000 X 1/10 60,000
800
ol HIHl 350,000 222,815 127,185
800
ol Hi bl 350,000 222,815 127,185
801
I 350,000 222,815 127,185 O oiitId] 350,000,000 350,000




